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第一部分  英语知识运用

英语知识运用
一、英语知识运用试题介绍

《全国硕士研究生入学统一考试英语考试大纲》规定：英语知识运用部分不仅考查考生对不同语境中规范的语言要素（包括词汇、表达方式和结构）的掌握程度，而且还考查考生对语段特征（如连贯性和一致性等）的辨识能力等。在一篇240～280词的文章中留出20个空白，要求考生从每题给出的4个选项中选出最佳答案，使补全后的文章意思通顺、前后连贯、结构完整。该部分共20小题，每小题0.5分，共10分。
二、英语知识运用试题解题方法
1．一般解题原则

认真阅读所给的短文。按照常规，短文的前几行应该没有省略，以便提供信息。考生应该反复阅读这几行，使其成为得到全篇文章信息的突破口。要准确无误地理解选项中词义各异的词、同义词、近义词词义的细微差别。熟练掌握习惯搭配和各种习惯用语的用法。理解上下文是解题的关键。一般情况下，要考生填空缺词有以下几种情况：

① 动词的时态和语态；

② 不同情况下的情态动词；

③ 非谓语动词的接续关系；

④ 关联词语；

⑤ 介词与名词、动词、形容词的固定搭配；

⑥ 实词的同义和近义选择；

⑦ 主谓语的一致关系的选择。

2．解题思路

（1）语法判断

从语法结构、习惯搭配用语、用法的角度思考解题。

1. I suddenly developed a great passion ________ writing poetry.

[A] for
[B] in
[C] on
[D] at

分析：信息词passion（热情，激情）与A项for连用形成固定搭配，与其他各项均不搭配。

2. Accidentally or ________ purpose, many of them discharged into streams and lakes.
[A] in
[B] with
[C] on
[D] for

分析：on purpose 是习惯搭配，意为“故意的，非偶然的”，其余三个介词不与purpose 搭配。
（2）选义法

根据上下文含义（或信息词），选择词义各异的词。

1. Weeks late, long after I had given up hope, I got a letter informing me I had won first ________.

[A] position
[B] prize
[C] reward
[D] victory

分析：在对四个被选项position（位置，职位），prize（奖赏），reward（报酬，奖赏）和victory（胜利）做出选择时，可首先考虑本句中的信息词win first。习惯上它不与reward和victory连用，position不合逻辑，只有prize才常用于在竞争、对抗或游戏、比赛中获得的成功。因此，选择prize在含义和搭配上都合理。

2. It was a long time, however, before man began to build permanent shelters because, until man learned to farm, he lived by _______.

[A] fishing
[B] gaming
[C] hunting
[D] shooting

分析：lived与by+动名词，意为“以……为生”。by fishing （靠捕鱼），by gaming（靠赌博），by hunting （靠射猎），by shooting （靠射击），从语法上看都可以。而只能根据上下文选择hunting。

（3）辨义法

根据上下文含义（或信息词），对备选答案中的同义词或近义词作出辨析。

1. Everyone at school was very impressed except the geography teacher, who ________ me more carefully than ever.
[A] guarded
[B] inspected
[C] observed
[D] watched
分析：四个被选项中，guarded（警卫）明显与上下文不符。inspected（检查）也不符合上下文的含义，从文中的情况看，老师还不至于更加仔细地检查短文作者。所以，以上两词都可排除。剩下的observed 和watched 都有“注视”的含义，可以看作近义词。watch 的宾语往往是人、事或行为动作，而observe意为“观察”，表示仔细地观察事物的规律性。根据短文的情景，是watched，而不是observed。
2. I gave up all my other hobbies, such as ________ stamps, and spent all my spare time reading poetry and writing it. 
[A] arranging
[B] collecting
[C] gathering
[D] keeping

分析：从上下文可以看出，文中“such as”后面指的是“集邮”，arranging （整理）和keeping（保存）均与文中含义不符合。剩下的gather和collect 都有“收集”的意思。但gather 指把散开的东西收集起来，而collect是有目的、有选择、有计划的“收集”。所以选collect较为确切。实际上，collect stamps已经成为固定搭配。

（4）语法、语义结合解题法

用语法规则和句子含义相结合选择答案。

1. In some（cases）people have been killed or ________ by them.

[A] got sick
[B] fell sick
[C] became sick
[D] made sick

分析：从句子结构看，空格后有by 构成的短语，其前，可以看出是由or 连接的现在完成时被动语态的谓语。而备选项中，got sick，fell sick和became sick 都不能与“have been”构成被动语态。从含义上看，三者都是指主语（人）生了病。只有D项made sick 不仅可以与“have been”构成被动语态，而且，其含义也是“使生命被染上疾病”，与题意吻合，故选D项。

2. This habit of writing poetry on every possible ________ soon got me into trouble at school.

[A] chance
[B] moment
[C] occasion
[D] time

分析：B项moment 和D项 time都表示“时刻”，与上下文不贴切，同时与“on every possible”也不搭配，所以可以排除，而chance 和occasion 都有“机会”的含义，其区别是，chance指“偶然”或“侥幸”的“机会”，occasion没有此种含义，根据本句This habit（习惯）of writing poetry，更不是“偶然”或“侥幸”，所以，只能是occasion。从搭配上看，也只有occasion 能与之连用。

在一篇短文中，以上四种方法不一定都用得上，这里所提供的是解题的思考方法，并不是非用某一种不可，应针对不同类型的问题，确定采用相应的方法，切不可死搬         硬套。

Examples:

My wife and I have always enjoyed traveling by sea, and last year we decided to go           
  1  a trip on the Mediterranean Sea.

Though our holiday was rather  2  we thought that the high standard of accommodation, the first-class food and many interesting places we saw were well worth the price we paid.

We found that most of the other passengers were friendly and interesting, by there was 
  3  man, a Mr. James, who annoyed us and not just us but all the others who shared our table dinner.   4   subject we talked about, it seemed that he was an expert at it.

He had,    5  , read more books visited more countries and studied more languages than anyone else on board the ship. After a few days, we ate our meals in   6   , because nobody wanted to begin a conversation that would soon be taken   7   by this man.

Then my wife had an idea. Fortunately, the ship had a library, and she suggested that we should think of an unusual subject, look it up in an encyclopedia and them talk about it at dinner. If it were unusual enough, Mr. James could not possibly know anything about it. The subject we chose was “English Agriculture in the Eleventh Century”. At dinner that night              we discussed this subject with great   8  . Mr. James was silent, we realized we had at          last   9   to find something he knew   10   about.

1. [A] for
[B] on
[C] in
[D] with

分析：go on a trip（出外旅行）是习惯用法，与for，in和with都不能形成这种搭配。（语法判断法）

2. [A] costing
[B] expensive
[C] luxurious
[D] economical

分析：costing（花费）是cost的现在分词形式，但cost是状态动词，不用于进行时态，更不能和本句的主语构成进行时，逻辑不通，可以排除。虽然信息词rather（相当，有一点）与luxurious（奢侈的），expensive（花钱多的）和economical（节省的）都可以连用，但从该句的主句含义来看，应选expensive。（选义法）
3. [A] the
[B] certain
[C] that
[D] one

分析：在上文不曾提到过Mr. James，第一次提及不能用定冠词the和指示代词that。至于certain，作“某一”讲时，应为a certain，所以三者均可以排除。句中a Mr. James是同位语，选one 相对来说应该是合理的。（语法、词义结合解题）

4. [A] Whatever
[B] Actually
[C] Any
[D] Another

分析：从句子结构可以看出，只能由Whatever连接，其他三个选项均不符合本句的结构。（语法判断法）

5. [A] apparently
[B] actually
[C] really
[D] naturally

分析：四个副词均可做插入语，但从上下文看，应从apparently（显然），actually（实际上），really（真正地）和naturally（自然，当然）中选apparently更为贴切。（选义法）

6. [A] quiet
[B] group
[C] silence
[D] politeness

分析：根据上下文和because引导的状语从句的含义，可排除D项和B项。再比较in quiet 和in silence。in quiet侧重“不激动，不惊慌，无烦恼”，in silence 则是指“不出声地，默默地”，而上下文暗含着作者讨厌Mr. James卖弄他的见多识广，所以默不作声地吃饭，以免Mr. James插上来答话，所以应选in silence。（辨异法）
7. [A] out
[B] up 
[C] in
[D] through

分析：根据文中含义，在take in（割掉，插掉），take through （无此搭配），take up （开始做某事），take out（打断）中选择take out 符合题意。（选义法）。
8. [A] warmth
[B] enthusiasm
[C] anxiety
[D] feeling

分析：C项with anxiety（焦虑地）和D项with feeling（有鉴赏力，有感受力）与上下文不符。在with warmth（热情地）和with enthusiasm（热烈地），根据文中情景和作者的情绪，选with enthusiasm符合题意（根据Advanced Learner’s Dictionary of Current English作解）。（选义法）

9. [A] tried
[B] managed
[C] succeeded
[D] continued

分析：A项tried 和D项continued都可以跟带to的不定式，但与句子含义不符合。C项succeeded不能跟in+动词短语，只有manage 在含义和语法上都讲得通。（语法、语义结合解题法）

10. [A] a lot
[B] least
[C] much
[D] little

分析：从题义的要求看也只能选least或little，而动词knew只能作宾语，而不能用least。（语法、语义结合解题法）
3．小结

1．解此部分题的关键是，在吃透文中含义的基础上，进行选择或辨异。思考不透，或仅靠结构搭配，是不行的。

2．事实证明，考生对其他题型可能做得很好，但并不意味着此题型也能做好，必须针对此题型进行强化训练，否则会感到茫然无从下手。

3．本节讲的四种训练方法，应认真练习，待掌握到一定程度，做题时再灵活应用。

4．填空做完后，再通读一遍，看一看含义是否上下连贯。

以2004年考研真题为例：

Many theories concerning the causes of juvenile delinquency (crimes committed by young people) focus either on the individual or on society as the major contributing influence. Theories  21  on the individual suggest that children engage in criminal behavior  22  they were not sufficiently penalized for previous misdeeds or that they have learned criminal behavior through  23  with others. Theories focusing on the role of society suggest that children commit crimes in  24  to their failure to rise above their socioeconomic status, 
  25  as a rejection of middle-class values.

Most theories of juvenile delinquency have focused on children from disadvantaged families,   26  the fact that children from wealthy homes also commit crimes. The latter may commit crimes  27  lack of adequate parental control. All theories, however, are tentative and are  28  to criticism. 

Changes in the social structure may indirectly  29  juvenile crime rates. For example, changes in the economy that  30  to fewer job opportunities for youth and rising unemployment  31  make gainful employment increasingly difficult to obtain. The resulting discontent may in  32  lead more youths into criminal behavior.

Families have also  33  changes these years. More families consist of one-parent households or two working parents;   34  , children are likely to have less supervision at home  35  was common in the traditional family  36  . This lack of parental supervision is thought to be an influence on juvenile crime rates. Other  37  causes of offensive acts include frustration or failure in school, the increased  38  of drugs and alcohol, and the growing  39  of child abuse and child neglect. All these conditions tend to increase the probability of a child committing a criminal act,   40  a direct causal relationship has not yet been established.
21. [A] acting
[B] relying
[C] centering
[D] commenting

22. [A] before
[B] unless  
[C] until
[D] because

23. [A] interaction
[B] assimilation
[C] cooperation
[D] consultation

24. [A] return
[B] reply
[C] reference
[D] response

25. [A] or
[B] but rather
[C] but
[D] or else

26. [A] considering
[B] ignoring
[C] highlighting
[D] discarding

27. [A] on
[B] in
[C] for
[D] with

28. [A] immune
[B] resistant
[C] sensitive
[D] subject

29. [A] affect
[B] reduce
[C] check
[D] reflect

30. [A] point
[B] lead
[C] come
[D] amount

31. [A] in general
[B] on average
[C] by contrast
[D] at length

32. [A] case
[B] short
[C] turn

[D] essence

33. [A] survived
[B] noticed
[C] undertaken
[D] experienced

34. [A] contrarily 
[B] consequently
[C] similarly
[D] simultaneously

35. [A] than
[B] that
[C] which
[D] as

36. [A] system
[B] structure
[C] concept
[D] heritage

37. [A] assessable
[B] identifiable
[C] negligible
[D] incredible

38. [A] expense
[B] restriction
[C] allocation
[D] availability

39. [A] incidence
[B] awareness
[C] exposure
[D] popularity

40. [A] provided
[B] since
[C] although
[D] supposing
21．C本题的四个动词均是现在分词形式，且都能与on搭配。从上下文语义关系来看，所填词应该与focus on 同义。Act on“按照……行事”；rely on“依靠”；center on “以……为中心”；comment on“对……作出评论”，四个词中很明显只有C项符合条件。

22．D 从逻辑语义关系来看，后文是对前文原因的一种解释，也就是解释青少年犯罪问题的起因，所以用because。

23．A 从句意推断，我们可以得出这句话的意思是“或者他们通过与他人交往学会了这些犯罪行为”。interaction“交往”；assimilation“同化”；cooperation“合作”；consultation“商量，协商”。显然，A为正确答案。

24．D这四个词除了return都可以与in … to连用。return 首先可以排除。in reply to “回复”；in response to“对……作出回应”；in reference to“关于”。从句意推断，我们可以得出这句话的意思是“而关注社会影响作用的理论则认为，孩子们犯罪是因为他们不能提升自身社会经济地位而对社会做出的一种回应”，显然D为正确答案。

25．A从句意推断，我们可以得出这句话的意思是“而关注社会影响作用的理论则认为，孩子们犯罪是因为他们不能提升自身社会经济地位而对社会做出的一种回应，或者他们想以这种方式来拒绝中产阶级的价值观。”在本句中，显然指的是青少年犯罪的两种原因。but rather“而是”；but“然而”；or else“或者是其他的”，均不符合句子的意义。

26．B从上下文的意思来看，此处的意思应该与focus on 的意义基本相反。considering“考虑”；ignoring“忽略”；highlighting“强调”；discarding“抛弃”。B符合条件。从句意推断，我们可以得出这句话的意思是“大多数青少年犯罪理论关注的是弱势家庭中的孩子，而忽略了富裕家庭中的孩子同样会犯罪这样一个事实。”

27．C从句意推断，我们可以得出这句话的意思是“富裕家庭中的孩子犯罪主要是由于缺乏父母监护。”四个选项中只有for 可以表示原因。

28．D四个选项都可以与be … to搭配。be immune to“对……免疫”；be resistant to “抵抗”；be sensitive to“对……敏感”；be subject to“易受……的，易遭……的”。从句意推断，我们可以得出这句话的意思是“然而所有理论均非定论，都容易受到批评。”D符合句子意思要求。

29．A从后面的例子可以看出，这个句子指的是“社会结构的变化会间接影响到青少年犯罪的比率。”affect“影响”；reduce“减少”；check“检查”；reflect“反射”，A符合句子意思的要求。

30．B 32题后面的lead能够为本句提供线索。前后两个句子是一种连环关系。point to“指向”；lead to“导致”；come to“逐渐……”；amount to“达到”。

31．A 从句意推断，我们可以得出这句话的意思是“社会总体失业率上升”。in            general“总体”；on average“平均”；by contrast“相比之下”；at length“最后”，A符合句意要求。

32．C这四个词均可以与in搭配。in case“以免”；in short“总而言之”；in turn“依次”；in essence“本质上”。30～32题选项所在的两个句子是一种连环关系，即A影响B，B也影响C。

33．D从句意推断，我们可以得出这句话的意思是“这些年来家庭也经历了一些变化。”具体来说指的是单亲家庭和双职工家庭的增多。survive“生存”；notice“注意到”；undertake“承担，保证”；experience“经历”，显然D符合句意的要求。

34．B此处显然指的是家庭结构变化所造成的结果。contrarily“相反地”；consequ- ently“结果”；similarly“相似”；simultaneously“同时”；B符合句意要求。

35．A 从句意推断，我们可以得出这句话的意思是“与传统家庭结构相比，这种家庭中的孩子受到父母的监护就可能减少”。显然A符合句意的要求。

36．B第三段讲的是social structure的影响，第四段讲的是家庭的变化，也就是         family structure的影响。

37．B从句意推断，我们可以得出这句话的意思是“攻击性行为的其他可确认因素还有生活挫折和学无所成”。assessable“可估价的”；identifiable“可确认的”； negligible“可忽略的”；incredible “难以置信的”，B符合句意的要求。

38．D 37~39所在的这个句子是在谈青少年犯罪的其他成因。从句意推断，我们可以得出这句话的意思是“毒品和酒类越来越容易得手”。expense“花费”；restriction“限制”；allocation“分配”；availability“可获得的”，显然D符合句意的要求。

39．A 从句意推断，我们可以看出这句话的意思是“虐待孩子和忽略孩子的事件越来越多”。incidence“事件”； awareness“意识到”；exposure“暴露”；popularity“受欢迎”，A符合句意的要求。

40．C前后两个句子之间显然是一种让步关系。从句意推断，我们可以得出这句话的意思是“所有这些事件都会增加孩子犯罪的可能性，虽然它们之间直接的因果关系还没有得到确认”。provided“只要”；since“既然”；although“虽然”；supposing“假设”，C符合句意的要求。

三、英语知识应用标准训练
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Teachers need to be aware of the emotional, intellectual, and physical changes that young adults experience. And they also need to give serious  1  to how they can best  2  such changes. Growing bodies need movement and  3  , by not just in ways that emphasize competition.   4  they are adjusting to their new bodies and a whole host of new intellectual and emotional challenges, teenagers are especially self-conscious and need the  5  that come from achieving success and knowing that their accomplishments are  6  by others. However, the typical teenage lifestyle is already filled with so much competition that it would be  7  to plan activities in which there are more winners than losers,   8  , publishing newsletters with many student-written book reviews,   9  student artwork, and sponsoring book discussion clubs. A variety of small clubs can provide  10  opportunities for leadership, as well as for practice in successful  11  dynamics. Making friends is extremely important to teenagers, and many shy students need the  12  of some kind of organization with a supportive adult  13  visible in the background.

In these activities, it is important to remember that young teens have  14  attention spans. A variety of activities should be organized  15  participants can remain active as long as they want and then go on to  16  else without feeling guilty and without letting the other participants  17  . This does not mean that adults must accept irresponsibility.   18  ,            they can help students acquire a sense of commitment by  19  for roles that are within          their  20   and their attention spans and by having clearly stated rules.（2003）

1. [A] thought
[B] idea
[C] opinion
[D] advice

2. [A] strengthen
[B] accommodate
[C] stimulate
[D] enhance

3. [A] care
[B] nutrition
[C] exercise
[D] leisure

4. [A] If
[B] Although
[C] Whereas
[D] Because

5. [A] assistance
[B] guidance
[C] confidence
[D] tolerance

6. [A] claimed
[B] admired
[C] ignored
[D] surpassed

7. [A] improper
[B] risky
[C] fair
[D] wise

8. [A] in effect
[B] as a result
[C] for example
[D] in a sense

9. [A] displaying
[B] describing
[C] creating
[D] exchanging 

10. [A] durable
[B] excessive
[C] surplus
[D] multiple

11. [A] group
[B] individual
[C] personnel
[D] corporation

12. [A] consent
[B] insurance
[C] admission
[D] security

13. [A] particularly
[B] barely
[C] definitely
[D] rarely

14. [A] similar
[B] long
[C] different
[D] short

15. [A] if only
[B] now that
[C] so that
[D] even if

16. [A] everything
[B] anything
[C] nothing
[D] something

17. [A] off
[B] down
[C] out
[D] alone

18. [A] On the contrary
[B] On the average
[C] On the whole

[D] On the other hand

19. [A] making
[B] standing
[C] planning
[D] taking

20. [A] capabilities

[B] responsibilities

[C] proficiency

[D] efficiency
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The earliest histories were not  1  , but oral-songs and sagas such  2  the battle and adventure  3  were told  4  the poet Homer in the Iliad and the Odyssey.

The wandering bards  5  passed these stories  6  generation to generation made no attempt to sort  7  fact from fiction. For them, the grand legends of gods and supernatural heroes were  8  real and important  9  actual events. Today we know that many of these ancient sagas,   10  exaggerated, do have a real basis in fact.
The story of the Trojan war, told in the Iliad, was long thought to be pure  11  ; however, today we can visit the ruins of Troy and walk through the gateway, guarded  12  a ruined tower, through which the  13  soldiers marched out to meet the forces of the invading Greeks. What is  14  , the man who discovered the ruins of the city made use of no documents or research materials other than homer’s description of  15  location.

The fabulous “one-eyed giant” who hurled rocks down  16  Odysseus’ ships in the Odyssey has been identified as the volcano of Mount Etna, which  17  frequently poured out rocky death, and whose cone can glow  18  a single eye against the dark of night. Nearby, in the sea off the coast fog Sicily,   19  some huge and jagged rocks which look as if a giant
  20  have hurled them there, just as Odysseus’ homecoming sailors reported.
1. [A] spoken
[B] told
[C] written
[D] talked

2. [A] as
[B] at
[C] in
[D] on

3. [A] tales
[B] histories
[C] comments
[D] reports

4. [A] by
[B] because
[C] at
[D] over

5. [A] whom
[B] who
[C] whose
[D] which

6. [A] from
[B] for
[C] because
[D] into

7. [A] to
[B] for
[C] from
[D] out

8. [A] as
[B] at
[C] for
[D] because

9. [A] like
[B] than
[C] as
[D] but

10. [A] as
[B] although
[C] since
[D] rather

11. [A] fiction
[B] novel
[C] article
[D] anthology

12. [A] by
[B] over
[C] on
[D] for

13. [A] Trojan
[B] ancient
[C] Roman
[D] Italian

14. [A] many
[B] more
[C] much
[D] great

15. [A] their
[B] her
[C] his
[D] its

16. [A] to
[B] in
[C] upon
[D] out

17. [A] have
[B] has
[C] had
[D] having

18. [A] like
[B] similar
[C] for
[D] as

19. [A] lies
[B] lie
[C] lay
[D] laid

20. [A] must
[B] need
[C] can
[D] might
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Comparisons were drawn between the development of television in the 20th century and the diffusion of printing in the 15th and 16th centuries. Yet much had happened  1  . As was discussed before, it was not  2  the 19th century that the newspaper became the dominant pre-electronic  3  , following in the wake of the pamphlet and the book and in the  4  of the periodical. It was during the same time that the communications revolution  5  up, beginning with transport, the railway, and leading  6  through the telegraph, the telephone, radio, and motion pictures  7  the 20th century world of the motor car and the airplane. Not everyone sees that process in  8  . It is important to do so.

It is generally recognized,   9  , that the introduction of the computer in the early 20th century,   10  by the invention of the integrated circuit during the 1960s, radically changed the process,   11  its impact on the media was not immediately  12  . As time went             by, computers became smaller and more powerful, and they became “personal” too, as well             as  13  , with display becoming sharper and storage  14  increasing. They were thought of , like people,   15  generations , with the distance between generations much  16  .

It was within the computer age that the term “information society” began to be widely used to describe the  17  within which we now live. The communications revolution has18 both work and leisure and how we think and feel both about place and time, but there have been  19  views about its economic, political, social and cultural implications. “Benefits” have been weighed  20  “harmful” outcomes. And generalizations have proved         difficult.（2002）

1. [A] between
[B] before
[C] since
[D] later

2. [A] after
[B] by
[C] during
[D] until

3. [A] means
[B] method
[C] medium
[D] measure

4. [A] process
[B] company
[C] light
[D] form

5. [A] gathered
[B] speeded
[C] worked
[D] picked

6. [A] on
[B] out
[C] over
[D] off

7. [A] of
[B] for
[C] beyond
[D] into

8. [A] concept
[B] dimension
[C] effect
[D] perspective

9. [A] indeed
[B] hence
[C] however
[D] therefore

10. [A] brought
[B] followed
[C] stimulated
[D] characterized

11. [A] unless
[B] since
[C] lest
[D] although

12. [A] apparent
[B] desirable
[C] negative
[D] plausible

13. [A] institutional
[B] universal
[C] fundamental
[D] instrumental

14. [A] ability
[B] capability
[C] capacity
[D] faculty

15. [A] by means of
[B] in terms of
[C] with regard to
[D] in line with

16. [A] deeper
[B] fewer
[C] nearer
[D] smaller

17. [A] context
[B] range
[C] scope
[D] territory

18. [A] regarded
[B] impressed
[C] influenced
[D] effected

19. [A] competitive
[B] controversial
[C] distracting
[D] irrational

20. [A] above
[B] upon
[C] against
[D] with
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  1  has long wanted to fly. He saw birds and envied them, and because man always restlessly seek progress, he  2  by making himself wings. The earliest record of this desire to fly is   3   legend of Daedalus and his son, Icarus.

  4   the old story, Daedalus was an   5  , and when he and Icarus were  6  in Crete, Daedalus made two pairs of wings. They flew out of prison and Daedalus made a safe landing in Sielly. But Icarus, boyishly  7  , flew  8  the sun melted the wax which held his wings together, and he fell into the sea.

That is the legend.   9  , however,   10  attempts were made to fly. Men studied birds, constructed wings, fastened them to their arms and legs and , very bravely, leapt off towers and hill-tops. They flapped their wings, but always they failed to fly. They did not realize that birds have muscles  11  ,   12  their size, than men. The secret of flying did not like   13   wings, but in discovering the right kind of power, and how to use it.

The first successful invention was the hot-air balloon, and the credit goes to two French brothers named Montgolfier. They worked on the fact that hot air   14   , and made          balloons with fire underneath.   15   the summer of 1783, they made a large balloon 
  16   linen and paper which rose to a height of 6000 feet and came down safely. Then they made a   17   balloon… It took three passengers safely into the air and brought them down again. The passengers   18   a sheep, a cock and a duck.

November 21, 1783, was a great day in the history of flying, for them a  19  1 Montgolfier balloon made a successful voyage with two passengers  20  , De Rozier and the Marquisd’ Ariandes. They rose to 300 feet and traveled five and a half miles. It was the first flight in the history of man.

1. [A] Human being
[B] Man
[C] men

[D] He

2. [A] tried to fly
[B] tried flying
[C] tries to fly
[D] tries flying

3. [A] an ancient Greek
[B] Greek ancient
[C] the ancient Greek
[D] the Greek ancient

4. [A] With

[B] Beyond
[C] In accordance to
[D] According to

5. [A] inventor
[B] inventer
[C] inventar

[D] inventist

6. [A] put in the prison
[B] put in prison
[C] went in the prison
[D] went in prison 

7. [A] playing at
[B] played at
[C] playing about
[D] played about

8. [A] too high to
[B] too highly to
[C] too high so that
[D] too highly so that

9. [A] In truth
[B] For truth
[C] In true

[D] For true

10. [A] countess
[B] countenance
[C] countable
[D] countless

11. [A] very strong

[B] very much strong
[C] very stronger

[D] very much stronger

12. [A] in percent to

[B] in percentage to
[C] in proportion to
[D] in perception to

13. [A] at
[B] in
[C] on

[D] for

14. [A] rises
[B] raises
[C] arise

[D] arouse

15. [A] In
[B] On
[C] For

[D] At

16. [A] from
[B] of
[C] up

[D] for

17. [A] passenger-carried
[B] carried-passenger
[C] passenger-carrying
[D] carrying-passenger

18. [A] were
[B] was
[C] are

[D] is

19. [A] high decorating
[B] highly decorating
[C] high decorated

[D] highly decorated

20. [A] above board

[B] above the board
[C] on board

[D] on the board
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The government is to ban payments to witnesses by newspapers seeking to buy u people involved in prominent cases  1  the trial of Rosemary West.

In a significant  2  of legal controls over the press, Lord Irvine, the Lord Chancellor, will introduce a  3  bill that will propose making payments to witnessed  4  and will strictly control the amount of  5  that can be given to a case  6  a trial begins.

In a letter to Gerald Kaufman, chairman of the House of Commons media select committee, Lord Irvine said he  7   with a committee report this year which said that self regulation did not  8  sufficient control.
  9  of the letter came two days after Lord Irvine caused a  10  of media protest when he said the  11  of privacy controls contained in European legislation would be left to judges
  12  to Parliament.

The Lord Chancellor said introduction of the Human Rights Bill, which  13  the European Convention on Human Rights legally  14  in Britain, laid down that everybody was  15  to privacy and that public figures could go to court to protect themselves and their families.

“Press freedoms will be in safe hands  16  our British judges”, he said.

Witness payments became a  17  after West was sentenced to 10 life sentences in 1995. Up to 19 witnesses were  18  to have received payments for telling their stories to newspapers. Concerns were raised  19  witnesses might be encouraged to exaggerate their stories in court to  20  guilty verdicts.（2001）
1. [A] as to
[B] for instance
[C] in particular
[D] such as

2. [A] tightening
[B] intensifying
[C] focusing
[D] fastening

3. [A] sketch
[B] rough
[C] preliminary
[D] draft

4. [A] illogical
[B] illegal
[C] improbable
[D] improper

5. [A] publicity
[B] penalty
[C] popularity
[D] peculiarity

6. [A] since
[B] if
[C] before
[D] as

7. [A] sided
[B] shared
[C] complied
[D] agreed 

8. [A] present
[B] offer
[C] manifest
[D] indicate

9. [A] Release
[B] Publication
[C] Printing
[D] Exposure

10. [A] storm
[B] rage
[C] flare
[D] flash

11. [A] translation
[B] interpretation
[C] exhibition
[D] demonstration

12. [A] better than
[B] other than
[C] rather than
[D] sooner than

13. [A] changes
[B] makes
[C] sets
[D] turn

14. [A] binding
[B] convincing
[C] restraining
[D] sustaining

15. [A] authorized
[B] credited
[C] entitled
[D] qualified

16. [A] with
[B] to
[C] from
[D] by

17. [A] impact
[B] incident
[C] inference
[D] issue

18. [A] stated
[B] remarked
[C] said
[D] told

19. [A] what
[B] when
[C] which
[D] that

20. [A] assure
[B] confide
[C] ensure
[D] guarantee
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A narrowing of your work interests is implied almost and  1  from a study environment to managerial or professional work. In the humanities and social sciences you will at best reuse only fraction of the material  2  in three or four years’ study. In most career paths academic knowledge only   3   a background to much more   4   decision-making. Even with a “training” form of degree, only a few of the procedures or methods   5   in your studies are   6   to be continuously relevant in your work. Partly   7   reflects the greater specialization of most work tasks compared with studying. Many graduates are not content with the loss of variety involved   8   transferring from degree study in   9  four or five subjects a year to very standardized job demands. Academic work values individual inventiveness, originality, and the cultivation of a different “style” as an index of self-realization and self-development. Emphasis is placed on   10   new ideas and knowledge, assembling   11   information to make a rational decision, appreciating basic 

  12   and theories, and getting involved in fundamental controversies and debates. The humanistic values of higher   13   encourages the feeling of being   14   in a process with a self-developmental rhythm   15   even if your employers pursue enlightened personnel development   16  and invest heavily in “human capital”-for example, by rotating graduate trainees to   17   their work experiences-you are still likely to notice and feel 

  18   about some major restrictions of your   19   and activities   20   with a study environment.
1. [A] transition
[B] transit
[C] translation
[D] transformation

2. [A] covering
[B] covered
[C] being covered
[D] having covered

3. [A] admits
[B] equips
[C] states
[D] forms

4. [A] applied
[B] to be applied
[C] applying to
[D] be applied to

5. [A] practiced
[B] described
[C] encountered
[D] analyzed

6. [A] definitely
[B] agreeable
[C] reliable
[D] likely

7. [A] there
[B] some
[C] this
[D] it

8. [A] in
[B] on
[C] of
[D] about

9. [A] at most
[B] at all
[C] at least
[D] at large

10. [A] absorbing
[B] to absorb
[C] generating
[D] to generate

11. [A] adequate
[B] definite
[C] valuable
[D] profitable

12. [A] believes
[B] concepts
[C] religions
[D] faiths

13. [A] position
[B] principle
[C] reputation
[D] education

14. [A] consisted
[B] dealt
[C] engaged
[D] worked

15. [A] By contrast
[B] That is
[C] Therefore
[D] Meanwhile

16. [A] laws
[B] rules
[C] policies
[D] studies

17. [A] improve
[B] introduce
[C] vary
[D] gain

18. [A] strange
[B] ashamed
[C] funny
[D] sorry

19. [A] hobbies
[B] interests
[C] subjects
[D] concerns

20. [A] connected
[B] compared
[C] in contrast
[D] in accordance
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Today, most countries in the world have canals. Even in the twentieth century, goods can be moved more cheaply by boat  1  by any other means of transport. Some canals, such as the Suez or the Panama,   2  ships weeks of time by making their voyage a thousand miles shorter. Other canals permit boats to reach cities that are not   3   on the coast. Still other canals   4   lands where there is too much water, help or irrigate fields where there is not enough water, and  furnish waterpower for factories and mills.
The   5   of a canal depends on the kind of boats going through it. The canal must be wide enough to permit two of the   6  boats using it to  7  each other easily. It must be deep enough to leave about two feet of water  8  the keel of the largest boat using the canal.
Some canals have sloping sides,   9  others have sides that are nearly   10  . Canals that are cut through rock can have nearly vertical sides. However, canals with earth banks may 
  11   if the angle of their sides is too steep.
Some canals are lined with brick, stone, or concrete to keep the water   12   soaking into the mud. This also permits ships to go   13   greater speeds, since they cannot make the banks fall in by stirring up the water. In small canals with mud banks, ships and barges must   14   their speed.
When the canal goes   15   different levels of water, the ships must be   16   or lowered from one level to the other. This is generally done by means of locks. If a ship wants to go up to higher water, the lower end of the lock opens to let the boat in. Then this gate closes, and the water is let into the lock chamber from the upper level. This raised the level of the water in the lock   17   it is the same as the upper level of water. Now the upper gates can be opened to   18   the ship into the higher water. Of course there must always be enough water on the upper level to allow for the flooding of the lock. Sometimes a canal contains a   19   of locks when the   20   in levels is very great.

1. [A] than
[B] as
[C] for
[D] with

2. [A] take
[B] save
[C] cost
[D] waste

3. [A] resided
[B] located
[C] placed
[D] settled

4. [A] irrigate
[B] dry
[C] drain
[D] water

5. [A] width
[B] length
[C] depth
[D] size

6. [A] largest
[B] longest
[C] heaviest
[D] widest

7. [A] pass
[B] encounter
[C] overtake
[D] meet

8. [A] to
[B] beneath
[C] above
[D] on

9. [A] as
[B] while
[C] since
[D] but

10. [A] vertical
[B] horizontal
[C] smooth
[D] flat

11. [A] break
[B] corrupt
[C] crumble
[D] fall

12. [A] away
[B] from
[C] upon
[D] off

13. [A] in
[B] at
[C] for
[D] with

14. [A] limit
[B] slow
[C] decrease
[D] increase

15. [A] across
[B] through
[C] with
[D] away

16. [A] raised
[B] promoted
[C] increased
[D] alleviated

17. [A] though
[B] until
[C] for
[D] therefore

18. [A] free
[B] permit
[C] release
[D] drain

19. [A] means
[B] group
[C] series
[D] mass

20. [A] distance
[B] variance
[C] contrast
[D] difference
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Throughout history man has had to accept the fact that all living things must die, but people now live longer than they  1  . Yet, all living things still show the  2  of aging, which will eventually   3   death.

Aging is not a disease, but as a person passes maturity, the cells of the body and the  4  
they form do not function as well as they   5   in childhood and adolescence. The body provides less   6   against disease and is more prone   7   accident.
A number of related causes may   8   aging. Some cells of the body have a fairly long life, but they are not   9   when they die. As a person ages,   10   of brain cells and muscle cells decreases.   11   body cells die and are replaced by new cells. In an aging person the   12   cells may not be as viable or as capable   13   growth as those of a young person.
Another   14   in aging may be changes within the cells   15   . Some of the protein chemicals in cells are known   16   with age and become less elastic. This if why the skin of old people wrinkles and   17   . This is also the reason old people   18   in height. There may be other more important chemical changes in the cells. Some complex cell chemicals. Such DNA and RNA , store and   19   information that the cells need. Aging may affect this   20   and changes the information-carrying molecules so that they do not transmit the information as well.
1. [A] use to
[B] be used to
[C] used to
[D] used

2. [A] function
[B] effect
[C] affect
[D] indication

3. [A] lead in
[B] yield to
[C] run into
[D] result in

4. [A] hands
[B] feet
[C] heart
[D] organs

5. [A] do
[B] has done
[C] did
[D] had gone

6. [A] energy
[B] protection
[C] vigor
[D] alertness

7. [A] to
[B] for
[C] against
[D] at

8. [A] attend to
[B] contribute to
[C] dedicate to
[D] devote to 

9. [A] replaced
[B] reborn
[C] recovered
[D] yielded

10. [A] a number
[B] the amount
[C] the number
[D] a lots

11. [A] The
[B] The other
[C] Another
[D] Other

12. [A] old
[B] left
[C] new
[D] other

13. [A] to
[B] for
[C] of
[D] in

14. [A] factor
[B] effect
[C] reason
[D] element

15. [A] for themselves

[B] of themselves

[C] themselves

[D] on their own

16. [A] change
[B] changing
[C] to change
[D] being changed

17. [A] hangs loose

[B] hangs loosely

[C] is hanging loosely
[D] is hanging loose

18. [A] increase
[B] shrink
[C] lengthen
[D] decrease

19. [A] pass away
[B] pass by
[C] pass off
[D] pass on

20. [A] improvement
[B] procedure
[C] approach
[D] process
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From childhood to old age, we all use language as a means of broadening our knowledge of ourselves and the world about us. When humans first  1  , they were like newborn children, unable to use this  2  tool. Yet once language developed the possibilities for humankind’s future   3   and cultural growth increased.
Many linguists believe that evolution is  4  for our ability to produce and use language. They  5  that our highly evolved brain provides us  6  an innate language ability not found in lower organisms.  7  of this innateness theory say that our  8  for language is inborn, but that language itself develops gradually,  9  a function of the growth of the brain during childhood. Therefore, these are critical  10  times for language development.
Current reviews of innateness theory are  11  ;however, evidence supporting the existence of some innate abilities is undeniable.   12  more and more schools are discovering that foreign languages are best taught in  13  grades. Young children often can learn several languages by being  14  to them, while adults have a much harder time learning another language once the   15   of their first language have become firmly fixed. 
  16  some aspects of language are undeniably innate, language does not develop automatically in a  17  . Children who have been isolated from other human beings do not possess language. This demonstrates that  18  with other human beings is necessary for proper language development. Some linguists believe that this even more basic to human language  19  than any innate capacities. These theorists view language as imitative learned behavior.  20  children learn language from their parents by imitating them. Parents gradually shape their child’s language skills by positively reinforcing precise imitations and negatively reinforcing imprecise ones.

1. [A] evolved
[B] born
[C] produced
[D] originated

2. [A] perfect
[B] favorite
[C] valuable
[D] appropriate

3. [A] attainments
[B] perfection
[C] feasibility
[D] evolution

4. [A] reliable
[B] responsible
[C] available
[D] accountable

5. [A] confirm
[B] inform
[C] claim
[D] acknowledge

6. [A] for
[B] against
[C] with
[D] of

7. [A] Rivals
[B] Propagandists
[C] Agitators
[D] Proponents

8. [A] potential
[B] preference
[C] affection
[D] passion

9. [A] like
[B] as
[C] similar to
[D] unlike

10. [A] psychological
[B] emotional
[C] biological
[D] ideological

11. [A] mixed
[B] favorable
[C] identical
[D] unanimous

12. [A] In deed
[B] In short
[C] In other words
[D] In a way

13. [A] the higher
[B] the lower
[C] standard
[D] various

14. [A] disclosed
[B] revealed
[C] immersed
[D] exposed

15. [A] charters
[B] regulations
[C] rules
[D] constitutions

16. [A] Because
[B] In case
[C] Although
[D] Whether

17. [A] sense
[B] vacuum
[C] galaxy
[D] hurry

18. [A] comparison
[B] interaction
[C] exposition
[D] fascination

19. [A] acquisition
[B] inheritance
[C] interpretation
[D] manipulation

20. [A] For example
[B] In other words
[C] Above all
[D] As a result
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Corporations are starting to conclude that deskbound jobs constitute occupational hazards. So they are spending much money on  1  to keep their employees physically and mentally healthy and productive. Soon such programs will be so  2  that people will not accept a job in companies without one.
Informed sources argue that this   3   is not   4   just a temporary one, and business health expert James Shepherd emphasizes that “   5   programs are the wave of the future and soon there’ll be large companies that won’t have become   6  .” Some major corporations have already set up various fitness operations,   7   millions of dollars to build and to keep up, as a means of both recruiting employees and improving their   8  .

However, this drive for business fitness involves much more than mere   9  . Industry suffers annual losses   10   at $25 billion as a result of employees’ dying before their time, and   11   billions more through   12   productivity because of ill health and disability. Indeed, it has been officially estimated that backaches   13   cost industry no less than one billion dollars annually in production and the   14   , and $225 million more in employees’ 

  15  . Such statistics have shaken large corporations   16   a realization that drastic measures need to be taken to get desk-bound employees out of their   17  .

Even though there is as yet not hard evidence to show the benefits of in –house fitness programs, corporate physical fitness is becoming   18   of an industry in its own right.          

  19   the President’s Council, more than five hundred companies have fitness programs 

  20   by fulltime directors.

1. [A] facilities
[B] conveniences
[C] services
[D] means

2. [A] rare
[B] valuable
[C] commonplace
[D] profitable

3. [A] style
[B] trend
[C] fashion
[D] means

4. [A] position
[B] profession
[C] occupation
[D] fitness

5. [A] a few
[B] few
[C] little
[D] less

6. [A] occupied
[B] involved
[C] invested
[D] enrolled

7. [A] costing
[B] spending
[C] patting
[D] charging

8. [A] quality
[B] production
[C] image
[D] quantity

9. [A] recruitment
[B] reputation
[C] improvement
[D] operation

10. [A] cost
[B] counted
[C] figured
[D] estimated

11. [A] suffers
[B] loses
[C] wastes
[D] pays

12. [A] diminished
[B] ruined
[C] destroyed
[D] shrunk

13. [A] alike
[B] alone
[C] even
[D] once
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